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Hydra-ﬁlic Computation and Stress‘ Analysis of Box Culvert.

J

Summary

ele-
for

Hydraulic computations to determine the
vation of canal bottom and mater surface
box type concrete culverts are discussed.

Velocity and cross sectional 4rea.of flow are
computed from Manning’s formula.

Aad then head loss- and velocity head are
considered to determine the elevation of bottom
and.watér surface. For stress analysis, 13.5 ton
live load and earth pressure are considered.

Also longitudinal stress of box culverts is
v’checked.
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